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(BEARLFEET —~ DR FF> TV DHERITENESRT L L RYY )

[METHREA L EE T —~%% 1 [9E13)

WOAZ T L.
1) (x4+3)(x45)(x—5)(x—3) 2 (a—bY(a+b){a®+b?)?
B) xx—1)(x—2)(x—23) 4) (x—=2)(x—4)(x+3)(x+5)

[RETHREA L BB T —< 32 1 914

WO BT X,
1) (a+3)3 2 (a—4? @) (2x+1)*
@) (3x—2)3 5) (4a+b) 6) (3a—5b)3

[BRETHREA L BB 7 — <322 1 [9E16]

WOR = RS X,

(1) 6a%b+4ab? (2) 8x%4+4xy—6x

3) a(x—y)—Yx—) 4) x2—2x(3y—4)

) 4a—2b)+(a—2b)y 6) a(5a—3b)+b(3b—5a)

[RETAREA L BB T —~ %% 1 RIE20]

WOz RESTFE X
(1) 2%+ 9xy+8y? @) x2—12xy+20y2 (B) x%42xy—24y?
(4) @+ 3ab—28b2 (5) p2—4pq—45q2 6) x2—5xy— 36>



[BRETHREA L IHEF —< %2 1 FERE21]
RO % R k.

1) 2x%4x-3 2) 3x%45x+2 (3) 2x24+7x+3

@) 2x2—-9x+10 (5) 4x*+11x-3 6) 8x2—2x—15

(7) 3a2—10ab+8b2 8) 3a’+dab-—4b? 9) 5x2—Txy—6y2
10) 12x%2—Txy—12y2 (11) 6x24+17xy+ 122 (12) 12x%2—23xy+10y2

(6] [T hise AR L BT —~ %% 1 RifE22]
WA FE i X,

1) «°+64 (2) 64a3—b? 3) 8x3+427y3
4 x'+8x (5) 3x%—81y3 6) 2x%y—16xy!

[ETRREA L BT —< 5 | B9E23]
RO % KRR X,
(1) ab+bc—cd—da (2) 2x343x%—20x 3) 6a’b—24ab®

[BCETHREA L BB 7 — <52 1 4]

R OE % R RE 5,

1) x2—(y+2) 2 (x—=17—

(3) (x—=2)2—(y+7)* @ (x+)*—8l(y—z)*

(Ol [T A L BT —~ %% 1 FIRE25]
WROAZ R X,

D (=3P +4=x—y—12 @) (+3)2+6(x+ 3 +9
3) 3(x— 4172 — ) +10 (
(5) (x—2)?—5x—2)—6 (;
7) 6(x+3)2—5(x+3)—4 (

) x2—4(y+ 2)x+ 3 y+ 2)?
) 2(x—1)2—5(x—1)+3
) (x—y+1)2—4(x—y+1)+4

(AR A LB 7 —~ %% 1 ffE26)

RO KRBT X,

(1) x2—8x+16— y2 2) 9x2—4y2—62+1
(3) a®+4b2—9c?—4ab @) 9xt—4x2+48xy—4y?



[ETEREE AR L HEF —< 5 1 RJEE27]
WROF % R L,

1) xt—622-27 2) x*—13x2436
3) (2 +4%)%+2(x%+4x)—35 4) (x*—5x)%+10(x%—5x)+24
(5) (42— 22— 3)(x?—22+6)+20 6) (x—1)(x+2)(x—5)(x—8)+ 110

[BGETHUEAR LB —< 2 1 28]
RO % R L,

(1) x2+20y—5xy—16 2 x2—9y+3xy—9
3) a*b+a?—b-1 @) a’+bi+bc—ca—2ab
(5) 4—4y+2xy—x? 6) 4xly—4x2z+y2z— 3

[BETAREA L BT —~ 5% 1 FE29]
RORZREG T X,

(1) 22+ 5y+5x+2y+3)(3y+2) @ 22+ 2y—3x—(3y—4h(y—1)
(B) x2—zxy—6y2+3x+y+2 @) x2—3xy—10y2+2x+25y—15
(5) 3x2—14xy+ 152+ 13x—23y+4

[RETIREAR L BT —< 22 1 F9RE41]
WONEFHET L,

1) 2J3 +5/5-3/3 @) 3JF —275 + /I8
8) V3T —2T8 +/50 @) (VT =2T)=(3JT —57)

[SETHREA L BT —<HE 1 RIE42]
WOREEHES L,

(1) 4v/3 X547 (2 V2 x6x/18
B V5 +243)4V5 —3) @ (V5+2)7?
6) (3v/2 —+/6)* 6 (2VZ +/3)2/2 —/3)



[BRETRREE A L I 5 —< 5% 1 R9EE43)
RORDOSEEZEE L L,

[RETHREAR L EB T —< 522 1 R4
g=P VI y=@ DLx, RORDEERDL.

1) z+y 2 xy 3 22+ y* @ 2y+zxy® (5 x+y°

[BRETRIEA L BT —<3E 1 REEs5]
WD 1 IRARER RS,

1) 6x>12 @ 15r< —10 3) —dx<—8 @ —%xg%

[BRETREAR L BB T —~ 5% 1 [H5E56]

WD 1 RAREXE R,

1) x+4+9=3 2) 8x—7<9 (3) —5x+3>18
4) 7x—4=4x+8 0 3x+6<5x—2 6) 9x—16<2x+19
(7) 2—3x<4x45 8 4x+5>8x—9 9 3x—-19<6x—11

[RETIREA L BT —~ 3% 1 s7]

WD 1 IRARER AT,

(1) 5x—4>3(x+2) @ 22x—1)<7x+4 3 5(x—3)<3(x+1)

@ Tx+2)=—-2(x—4) G 1Mx—1<19x—1)+5 6) 2x—1)—4(x—2)>—1

[RETAREEAR L BT — <322 1 RIRESS)

WD 1 RAEXE T,
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3x—4 _ x—2 x—1 2x-1 _1
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WDITFER, FRERXL T,
Q) |4=7 @ [4>8 3) |4=13 4 [4<11 ©) [4=20

[ETIREA L EE T —~ &% 1 [HEe7]

WOFRER, NEXZHET,

1) |x+4|=3 2 |52—7=8 3 |x=5|<7
@) |x+2|=9 5) |8x—3>5 ©6) |4x-+1=17

[BRETIREA L EE S — <% 1 BIEE69]
WO, FEXLET.
1) |x+4|=5« @ |x—1=<2x @ |x+1]+|x—3|=8



[BETHREA L EE T — <52 1 FEE102]
WOBBD 7T 7 ZhT, £7-, ERERD X,
1) y=2x+3 (-1=2x2Z2 2) y=—3z—-1 (-2Z2xZ1)

3) y=—gr+l (3<xs6 4 y=gr—4 (—4<z<Y

[RETAREEA L BB S —< %2 1 F9EE103]
OB HRNE, B MERHIUIEFNEZRD X,

1) y=r—1 (—3<x<2) ® y=—2x+l (0Szs)
3 y=3x+2 (x4) @ y=—2-1 (-1<x=2)
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WRO2WEBDT7Z 71, y=—3x2 D75 7% DL HICHTREN L2 6 DD,
() y=—3x2+4 @ y=—3(x+5)? (8) y=—3x—22+8
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WD 2R DT Z 7%, £i-, FOELLE#ZRD L,
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[ETRREEA LI E 7 — < 1 REE109]
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[BRETAREEA L IEE T —< %22 1 PARE111]
WD 2 RAEEF R L,
1) 2x2—-8x—1 2) 3x2+18x+17 B —x24+3x—2

(4) —3x24+12¢ 5) 242—5x+2 6) —pri-dx—6
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RO 2REBBDTZ 7 %mT, Eiz, FOERLEHERD X,
1) y=x2+22-2 2) y=—x2+42x+4 (3) y=—2x2—8x—5

@) y=212+61+6 5 y=2x'—3x+1 6 y=gai-2x

[RETHREA L HE S — <32 T P9EE113]
Heptg y =222 —8x+5 #IATHEN LT, M y=222+4x+7 IZERBIZ1E, Yok
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[CLETHREA L EE T —~ 2% 1 RIEE119]
RO 2IREBITRKE, BMERBIL, ThaRD L,

1) y=x2-2x—4 2 y=—x246x+2
) y=2x24+10x+3 4 y=-—3x244x—1

[BCETRREA L B 7 — <32 1 F9EE120]
RO DR NE, BIMEEZRD X,

) »y=3x% (-25x=<3) 2 y=-2x2 (2<x<3)

@) y=—-2x+1?2 (2521 4) y=(x—3)2+2 (2<x<5)
®) y=2(x+17-1 (—2=2%)) 6 y=—2x—12+3 (0=x<3)
(TR A LB 7 — <% 1 RiRE121]
ROBEIHRNKE, BMERHIE, ZhaRd L,

1) y=x2-2x-3 (—2<x=<2) 2) y=—x2—4x+1 (0<x=<2)
3) y=222-92+1 (1=x<3) 4) y=-2x—4x (-3<x<0)
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BO%k y=222—8x+3 OERBE L THROEHEL L A L X, REAIIONT, BNELE
IMBEE RS L,

1) -2=x=1 2 05253 3) 1<x<5 4) 3<x<6

B2 (e L BT —~ 5 1 R3]
WROGMETIZT L5112, Ta, p, qDEEED L,

1) 2K y=a(x—22+4 OFF72E(1, 2 %@5,

(2) 2B y=a(x+2)2+q 1TB/ME -3 221, x=1 Ty=6 L75,

(3) 2B y=a(x+ p)?+5 13 x=1 TEKEE LY, 2=3 Ty=-7 L7223,

[RTHAREA L BT —~ 5% 1 [ImE132]
ROFMZREIZT IO, Ea, b, c DEEZED L,

1) 2B y=ax®+bx+4 D5 72824(1, 5), (2, 10) %3,
2) 2Bk y=ax?+3x+c DFTTR2A, 2), 2, —1) B@ES,
(B) 2B y=2*+bx+c DITTTR2H(1, 2), (2, 8 @S,

[RETHREA L IEB T — <% 1 RIE133]
WROESL 3 75 1 RN AT,

a+b+c=2 a+b+c=-2 a+b—c=-=-3
1) {a—b+c=4 2) (da+2b+c=-3 @) |a+3b+2c=7
da+2b+c=4 94 —-3b+c=-—18 3a—2b—c=4

[UETRREA L BT —< 0% | PIEE134]
WD TR %E 77 71062 2 RS Z sk X,

1) TER2EQ, 2T A0, 4285,

2 ERx=-3%#tL, 2/5(=2 0, 1, —15 %2@E5,
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SREB DT T 73RO 3 BEED L&, 20 2REHERD L,
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[EETAREEA L BT — <20 1 FARE141]
RD 2 IRFERD FERRDOEE 2R I,
(1) #2+52+7=0 @) 9x2—12x+4=0 3) 3x2—Tx4+2=0

() 2x2—3x—8=0 5) gxt+2x+9=0 6) 5x2—3yTx+1=0

[ETHREA L BT —~¥2 1 RIE142]
2R 2 -2x4+m—1=0 |22\ T, ROBIWIZEZ X,

1) BR22-00FEBMBELHOLX, EHom OEOEELYRD X,
2) EHRELIZVWEE, Eom OEOHFEERD X,

[ATHEA L BT —~ 5% 1 RRE143]
RO 2EHEADEME bHOL &, Bm OEERD X, £z, FOLEDOEMEFRD L,
1) x2—x+m=0 2 x*+mx+16=0

[FTHREAR L EE T —~ 2% 1 RIRE147]

WD 2IREBDT T 7 & x @OIF ROEERERD X,

Q) y=—(x—17* 2 y=(x+2)%2+2 () y=x2—3x+42
@) y=x"-3x2+3 (5) y=322—6x+3 6) y=—3x2+x+1

[SRETHREA LT T —~ 2% 1 fHRE148]

RO 2WEEDT 57 b x WO AOEET~, FEARHIBEL, FOEEY
kX,

1) y=(x+4?* 2 y=2(x—3)2-3

(3) y=—x2—-5x—6 4) y=—x2-3

[CRETHREA L EE T —~ 22 1 fEa152]

WOTHRR L ERRZIEF SR bIUE, FOEEL R X,

1) y=x2, y=—x+6 2 y=x22+6x+9, y=—2x-7
(3) y=x%42, y=2x—6



[BRETRRIEAR L BB 7 —< %2 1 REE154]

RD 2IRRERE T,
1) (x—4)x=T)<0 @ (x+3)(x—5=0
B) xx+2)>0 4 xx+6)=0

[BRETHREEA L BB —<HE T F9EE155]
KD 2IRAER ST,

1) x*—3x—18>0 2) x2—64<0

3) x2—-2x—24<0 4 x2—13x+40=0
3) @

(B) x*4+7x2<0 6) x24+5x—36=0

[ETREEA L B 7 — <22 1 98156
IRD 2 RARZER A AR,
(1) 2x*-7x+4+3<0 (2) x*—4x—3=0 (3 —x:4+T7x+8>0

(BETHREA L BT —< %% 1 BT

RO 2RAERNERIT,

(1) x2>2x+8 (2) 2x2—-3x=9

B) Hx—4)=2(x%2-73) @) (2x+1)24+24>(x+5)2

[ETHREA L B 7 — <22 T [REE158]
WD 2 IRANER AT,
(1) 22+14x+49<0 @ x2+16x+4642=0 (3) 9x2—6x+1<0

[SFTHREA L 8T —~ 5% 1 FRE159]
WD 2 RAEXE T,
1) 22—2x+4>0 2) x2—8x+1750 3) 3x24+6x+7>0
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[BETHRHEA & BT —< %% 1 FIRE160]
WROEMER-T X212, Thom OECEHEETD L,

1) 2WwHER 2+ mx+m=0 3825 2 >OEHMHEE B,

@) 2WHEBR 22+ mx+2m —3=0 BNEHIEE L 727200,

(3) 2FHFERX22—max—m+8=0 BNEHEL L,

[BETHEAR L BT — <5 1 RIRE162]

IR OBIARENX LT,
222—-5x-3<0 y 3xi=2x244x
3x2—-11x—4<0 2x2—7x<49

[RETRREA L B 7 — <222 1 REE179]
0°P<Z0<180° DLk &, ROZERATE-T0 25kd L,

(1) siné —L (2) cosf = -——“/z (3) tanf=.3

72 2

[RETAREEA L BB 7 — <522 1 R9EE180]
0°<O<180° & =, ROERATT-T 60 25kd X,
(1) 2sin@ —./3 =0 2 2cosf=1 3) tanf+1=0

[ETAREAR & BB —< %0 1 FIEE182]
90°<0<180° L35, sinf, cosf, tan@ DL, 1 SBREROER LA L X, D25

DEEZRD X,
1) sind =% @ cosf = —% 3) tanf=—3

[YETHREAR L BT —~ 52 1 [9E188]
AABCIZREWT, IROHDERD X,

Yy A=120°, NEMHOFEE R=10 DLt %k q

) a=12, B=60°, C=75° D+ x b

) a=1, c=J3, C=120° D&% A

) b=5, NEADIZER=5DLE B

) ¢=b, A=50°, B=100° & %, /EHOEER
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[RETHREA L BT —~ 5% 1 REE190]
AABCIZBWT, ROLOERD X,

(1) b=4, c=6, A=60° DL % a

2) ¢=2, a=3, B=120°DL % b

(3) a=7, b=5, c=4/2 ®L*x cosB DL B
@) a=1+./3, b=2, c=6 Ot % cosC DffiL C
[RETAREA LT T — < %22 1 FRE193]

WDE 57 AABCOEY DUDEILADREIEZRD X,

1) a=2J6, b=8, c=3J2 2 b=43, c=4, A=30°
@) a=42, B=45°, C=105° @ b=1, c=y3, B=30°

[RETHRELA b B S — <32 1 REE194]
ADABCIZBWTHRBER Y I %, A ZkD X,
sinA :sinB :sinC=13:8:7

[RETIREA L EEF —< B2 T F9E195)
A& ABCD 28Iz, AB=1, BC=ﬁ, CDh=1, DA:Zﬁ TharLx,
cos LA DIEELXAHR BD DEXERD L,

[BCETRREA L BT —<53E 1 R9EE196]
WwDX 57 AABCOERES 25k X,
1) a=6, b=4, C=60° 2) b=5, ¢c=3, A=135

@) a=2J2, c=6, B=150°

[BRETREE A LB s —< 522 1 R9EE197]
ANABCOEREE S &35, ROLDOERD I,
1) b=2, A=60°, S=3 DLt & ¢ 2 b=3, c=22, S=3prx A
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s (1)
4 =«
(4] %

#5 (1)
4)

[5][a
g (1)
4
()

(10) (3x—4y)(4x+3y)
FIREARELEBE T —~HF 1 ME22]

(6] 1%

75 (1)
3
)

7] 1%

2?5 (1)

[%
@ms (1)
3)

EllF

(1)
4)
(7)

STRREAR L IEZE T —<5F 1 BE13]

x4—34x24225  (2) a®—2a'bt+b%® (3) x*—6x3+411x2—6x
x4 +22%—2522—26x+ 120

FTHUGEAR S BT —~ HF  RREL]

a’+9a’+ 27a +27 2) a®—12a2+48a —64
8x3+12x24+6x+1 (4) 27x3—54x2+ 36x—38
64a3+48a2b +12ab%+ b3 6) 27a3—135a%b + 225ab2—125b3

STHRER BT —~F 1 [HE16]

2ab(3a+2b) (2) 2x(dx+2y-—3) (3 (x—y)(a—9)
x(x—6y+8) (5 (a—2b)(y+4) (6) (a—b)5a—3b)
FIRREAR LIEEBT —~&F 1 RfE20]

(

(x+9)(x+8y) (2 (x=2y)(x=10y) (3 (x—4y(x+6y)
(@a—4b)(a+T7b) (5 (P+5q)(p—99  (6) (x+4y)(x—9y)

FIRGHEA L BT —~ % 1 PIRE21]

(x—=1)(2x+4+3) (2) (x+1)(3x+2) B) (x+3)(2x+1)
(x—=2)2x—=5) (5) (x+3)4x—1) (6) (2x—3)4x+5)
(a—2b)(3a—4b) 8) (a+2b)(3a—2b) 9 (x—29)(52+3y)

(11) 2x+3y)(3x+4y) (12) (3x—2y)(4x—5y)

(x+4)(x2—4x+16) () (4a—b)(16a2+4ab+b?)
(2x+43y)(4x2—6xy+9y?) 4 x(x+2)(x2—2x+4)
Jx—3y)(x2+3xy+9y%)  (6) 2xy(x—2y)(x>+2xy +4y?)

STRERLEEBE T —~HF 1 RBE23]

(a+c)b—d) 2 x(x+4)(2x—5) (3 6ab(a+2b)a—2b)
FIMEARLEE T —~RF 1 [EE24]

,(x+y+2)(x—y—2) @ (x+y—Dx—y—1)
(x+y+5)(x—y=9) 4) (x+10y—9z)(x—8y+9z)

STHEARLIEE T —< ¥ 1 F98E25]

(x—y—=2)(x—y+6) (2 (x+y+3? Q) (x—y+5(B3x—3y+2)
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